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FATTN - KA T 7 VA |

FERE 7.1. (&¥BT 1) Z/(565,355) BB necZ DY I A% n k&
CZEiZTd, Tk &,
65

(1) 565 =0 THBI L2mLAI,
(2) 355 =0 THBI LEmLAI,
(3) 5=0ThsdILuRLAI,

IR 7.2. (% 1) C[X]/(X? —49,X? — 15X +56) IZ2B1F 3 p € C[X]
DIIA%G EELZLIZTD, ZDEE,
(1) X2—-49 =0, "2 X2 15X +56 = 0 THDILERLA
AR
2) X—T=0THdILERLAI,
(3) X° 2 CEB LB AILICESIHRI,
(4) FE7ED p e CIX] TN U T p(X) = p(7) BRI ILDI L ZRL
BRI,
BIRE 7.3. (% 1) CX,Y]/(X =5,Y -7)IZBWD peCX,Y] DI F
A% pL#LILIITE, ZOLFE,
(1) X =5 M22Y =7TTHhHdILERLULAI,
(2) X243Y +7XY ZfEHRZPIZEL R I,
(3) fEED p e CIX,Y] IZHUTp(X,Y) =p(5,7) BRI ZDZ &
ZRUBRIW,

EE 7.1 REHRNICEZROAHER, [ 2ZDA 77V LET, 2D
r ¥

() INRDEATTNTHDENODIE, [fgeA fgelh
S5IX, f g D—FAMNIDIETHD] WD ILDEZIZF
95

(2) I X ROMKATTIVTHDIEZSIDIE, [ 2HnEALLT
BLRDODATTIVN R E T HHEUIMNIIGFELBRNE SIZE
WET,

RIE 7.4~7.19 TlE, T8 L WARIEHEM o2 om#Ez2ied o L
ZUET,

BB T74. BB RDODATTII DEATTINTHD7-DDBE+EM
ik, R/I B THD L BROERLEIV,

BB 7.5. ZDA T T nZ NEALTTWVIZERDZDIE, n=0XiEnH
ZEHOLEETHDHI LRI,

RA%E 7.6. B R O F7 )V [, R DEH h #, Rh+1=R %2Md
RO h OFRE L & R/I OFAFETHE I EERLEI,

MR 7.7. B R OWMKA T 7NV I BN5EXbNe I, R/IIMEKTH
5%, RONEFTRUBLIW,
(1) R OEFEDOT h 2 UT, Rh+11E 1 2H0HEELLTED
AT T7INVTH2,
(2) Rh+I1=1 < hel.
(3) R/ITIZBEWT, h#0 485X hik R/I DAHTTHD,
1



2 B T ME NO.T

B 7.8. kA T 7 IEREA T TN THE I LERLARI,
B 7.9. (1) ZDOAT TN nZ mZ (n,m IFIEDEL) IZDNT,
nZoO>mZ < nilEm OHBEETHD
ZRUBRIW,
(2) Z DWEKRA T T IV & T NTRDZI N,
BIRE 7.10. ZIX]| DA T TV I = (X) &FEA T T7INVTH>T, WAA
FTITRBNZ L EZRLAIW,
IR 7.11. XD Z[V2] DA TTIVIZEA TTIVINE I WEZ BRI,
(1) I = (5)
(2) I = (7)
B 7.12. (1) CIX] DA T T (X?—49, X2 - 15X +56) I& C[X]
DOWRATTINVTHDZEERUEI,
(2) CIX,Y] DA T 7 (X —=5Y —17) & C[X,Y] DfXA T 7
THdHIezZmRUBRIWN,
IRE 7.13. BOMOMERIEL f: R - S BWEZONZE LET, Z
DRI NS DEATTNES, [FUDIE RDFEATTVTHD L
ZRUBZRIW,
MR 7.14. ROFM%2mE TS f,R, S, I ZZADITERIW,
(1) f: R— S IFEROMHIDHER BB,
(2) T1& S OWKA T 7 I,
(3) f7YI) IZ R DMiRA T T IVTR,
(&> M0 3RO KA 77NV TT, )
B8 7.15. R=7/6Z EDZIHAER R(X] Dt f,g T, RD25%M4%
FIREICH T2 EDEIEY R,
(1) deg(f) = deg(g) = 2.
(2) deg(fg) = 3(< deg(f) + deg(g)).
BIRE 7.16. R %28, [ 2 ZDA T 7NV LET, AR/I DA T TI) &
ke (I 2EWAPEEGLUTEDL RO T 7)) 2R OIiE—x—
KN O ZEERDELDIZUTRURI N,
(1) JE2 I Z2BLROATTINETDLE,
J={zxeJ} QX ?DIIAEKT, )
% R/I DA TTVTH5%,
(2) K% R/JDATTIVETDL X,
K={reRicK)}
T RDODATTIVTH b,
(3) EOZDDHIGIEHNITMDHIIGIZ R > T WS, TRDH,

J=J K-=K.



